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—x9 —x3+ x4 =0
r1+2r94+2x3+714 =06
221 + 4ao + 23 — 224 = —1
3x1 + a9 — 223 + 214 =
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A
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Matrix(QQ, ([0, -1, -1, 11,[1, 1, 1, 1]1,[2, 4, 1, -2][3, 1, -2, 2]1])
vector ([0, 6, -1, 3])
solution = A.solve_right(B)

show(solution)
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M4 - MatrixSpace(QQ, 1)

A = M4.matrix([[®,-1,-1,11,[1,1,1,11,[2,4,1,-21,[3,1,-2,211)

b = vector(QQ,[0,6,-1,31)

solution = A.solve right(b)

print("Solution to A.x=b: ")

show(solution)
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M4 = MatrixSpace(QQ, 4)

A= M4.matrix(([e,-1,-1,11,[1,1,1,11,[2,4,1,-21,[3,1,-2,211)
b = vector(QQ,[0,6,-1,31)

solution = A.solve_right(b)

print("Solution to A.x=b: ")

show(solution)

Solution to A.x=b:
(2, -1,3,2)

[evaluate|
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A = matriX(QQs [[2, 5, 4]’[33 1, 2]’[5, 4: 6]])
show(A.inverse())
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M4 = MatrixSpace(QQ, 4)

A = Ma.matrix(([®,-1,-1,11,[1,1,1,11,[2,4,1,-21,[5,1,-2,211)
b = vector(QQ,[@,6,-1,31)

solution = A.solve_right(b)

print("Solution to A.x=b: ")

show(solution)

Solution to A.x=b:
(2, —1,3,2)
A = matrix(QQ,[[2,5,41,[3,1,21,[5,4,611)
=3

print("Inverse of A:
show(A.inverse())
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var(°x’)

f(x) = e"x * cos(x)
f_int(x) = integrate(f, x)
show(f_int)
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f(x) = sqrt(l - x72)
f_integral = integrate(f, (x, 0, 1))
show(f_integral)
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1 1 =
@+ 5 (sin(x) + cos(x))e

f(x) = sqrt(1 -x"2)
f_integral = integrate(f, (x, ©, 1))
show(f_integral)
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f(x) = e"x * cos(x)
plot(f, (x, -2, 8))
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f(x) = eMx * cos(x)
plot(f, (x, -2, 8))
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SEFEE N, DX IZHZA TN KA VR NIE, REAEEKIOBEETWE, HHLET
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—x9—x3+ x4 =0

T1+ T2+ 23+ 74 =6

221 + 4ao + 23 — 224 = —1
3x1 +x9 — 223+ 224 =3
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import numpy as np

from scipy import linalg

A = np.array([[0,-1,-1,1],[1,1,1,1],([2,4,1,-2],[3,1,-2,2]11)
b = np.array([[0], [6],[-1],[31])

linalg.inv(A) .dot (b)
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A = np.array([[2,5,4],[3,1,2],[5,4,6]])
linalg.inv(A)
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import scipy.integrate

import math

scipy.integrate.quad(lambda x: math.sqrt(l-x*x), 0, 1)
math.pi/4
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import pylab as pl

import numpy as np

X = np.linspace(-2, 8, 256, endpoint=True)
F = np.exp(X)*np.cos(X)

pl.plot(X, F)

pl.show()

DTV T LEFEITTNIE



200+ < EE

EHIE XY,
WD N2 BUER RN T, B2 =007 7 7 TRRLTAET,

import scipy.integrate

import numpy

import matplotlib.pyplot as plt

from mpl_toolkits.mplot3d import Axes3D

class LorenzAtractor(object):
def __init__(self,p,r,b,t,x,y,2z):
self._p=p
self._r=r
self._b=b
self._t=t

self._x=x

self._y=y

self._z=z

def Func(self,result,t0):
F_dx=lambda result: -self._p*result[0]+self._p*result[1]
F_dy=lambda result: -result[0]*result[2]+self._r*result[0]-result[1]
F_dz=lambda result: result[0]*result[1]-self._b*result[2]
return [F_dx(result),F_dy(result),F_dz(result)]



def calc(self):
initval=[self._x,self._y,self._z]
result=scipy.integrate.odeint (self.Func,initval,self._t)
self.show(result[:].T[0],result[:].T[1],result[:]1.T[2])

def show(self,x,y,z):

fig = plt.figure()
ax = fig.gca(projection=’3d’)
ax.plot(x, y, z)
ax.set_xlabel ("X Axis")
ax.set_ylabel("Y Axis")
ax.set_zlabel("Z Axis")
ax.set_title("Lorenz Attractor")
plt.show()

p=10.0

r=28.0

b=8/3.0

x=0.1

y=0.1

z=0.1

t=numpy .arange (0,100,0.01)

LorenzAtractor(p,r,b,t,x,y,z) .calc()
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